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Fifth Semester B.E. Degree
Management

'I'ime: 3 hrs. s: 100

Note: 1. Answer any FIVE full questions, lc.
2. Use o.f Discrete compound in

at air thc sc1

(10 \Iartis)
(10 \Iarlis)

(12 Nlarlis)
(0tl tr{arks)

(12l{arlis)
(0tl )la rli.s)

( I () l'{a rks)
(10 \larks)

(0tl llarks)
(04 )Iarksl

fbr I 0 yeurs

s the cicsircd

(06 llarks)
Follou,ing are the cstimates of tlvo altenrate investrnent nracie in trvo ilil'feri"'nt rlachincs in

an inclustry. Find out rvhich rnachinc has the fzrstcst paybaclt periocl.
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C
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: i:,

Particulars Machine A Machine Il
I Initial investment 30,000 42.000

Annual receipts 20.00t) 26,000L

3 Annual expenditures -5,500 7,000
4 Economics life 4 years 4 years

tof 2

(08 Marks)

GB.G$

OR
6 a. Dchrrc enginecring cconomics and briefly explain microeconomics and lni.lcroccolronrics.

(10,\larks)
b. A man is planr-ring to buiid his lrousc. Hc plans to invcst Rs.,10,000 pcr year fbr the ncxL

10 years. The bank oftbrs l2olo intercst rate cornpoundcd annually. Firrd thc malurity laluc
ol'his uccouttt alicr l0 ycars. 1l(l \lrrrli.rt
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a.

b.

C.

Salcs ovclheads
I)ro llt

-, ')

-')
cost
CoSt

+

0tlicl cxpcncl iturcs arc as fol

ft"

P

A) ,+)
Fig.Q 10(c) Ali dimcnsions are in 'r.r.rn.r'

*****

0peration Time/prece minutes
Liibour cost per

hour rs I{s.
Shot ovcrheads

R s.,4rour

Nloulcling ancl paring l< 20 60

Shrlt blastinq 5 10 40
Iicttl in g :rncl inspections .., 6 10 40

2 of 2

zrt'

(10 Marks)

18ME51

OR
Its. I () crorcs was gene rate d by the lnanagcrxcnt o1' ari enginccnng collcge lirr thc
coustruction o{'its ne'rv mechanical scicnce blocl<. Annual rnaintenancc of-thc biocl< is
cs1in.)a1.rrd to bc Rs.l0lal<h. In acldition I{s.ll lakh u'i1l hc rreeclcd cvcr1, l0 ycars lbrpainting
and IIover repairs. If the br-rdget granted hus to take clre of perpetr-ral rlaintcnancc, hoiv
much ol'thc arnount can bc usecl ftrr initial constmction costs'J Deposited lunc1s can earn (r'fi,

rate ol'intcrcst cclrrpounclcd annualiy. Assunre that taxes and inflation clo r-rot conrc inttr
picturc. (12 N{arks)

What arc thc various mcthod o1'cr:mparing the wofihiness of engineering pro-jccts. Explain
an\/ one mcthod. (08 \larks)
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AIS tress theory
(0(r IIarks)

f' l(X) k\. Calcrrlatc ils
thickness i1' aiiowable tensilc stress is 180

lov

F

| 0a yrl

safi: hcight'[r'taking thc allou,ablc stress as 90 MPa. f irlic
(08 \{artis)

OR

Llnkr'lo\\/n he ight.
E:210 GPa.

Detelmine the

a. Obtain Soclerberg's rclation {br a ntcrrber sr-rbjc'cterl to lirtigue loading. (05 \llrlis)
b. ,A stccl connecting rocl of rectangular cross-section having dcpth tuicc tlrat o1'thc uirith r:r

subjcctcd to a complctclv reversed axiai load of i8 kN."lhe cndurancc strcss is 100 \,{Pa ancl

yielci stress is 420 lr4Pa. Dctcminc sLiitable cross-sectioiral dinrcnsions o{-thc couneclinr.r

rod. Take size thctor : 0.9, Load factor = 0.7, Surface thctor - 0.85, Stress colrccntf i.rti()u
factor: 1.5, Notch scnsitivity: l. Factorof saf-ety: 1.8. Neglect colunrn ellcct. (07 \tarkri

1 of-3
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C 1\ stccl rod (rl, =-,400.1 N4Pa and o-r :315.2
l:ig.Q"l(c) is sLrbjectecl to loaci varying lrorn 3F to
oIsaltty i. ]'ake stress concentration lactor: I

18ME52

ircular cross-scction shor,vn in
1he valLrc o1-Ir. t.lse a lactor

r

3r
F- f-00 ---,

5

7

lr
lootf
100

too

Fig.Q7(b)

I (\l -)

6&-,+

3

t

Z

(08 Marks)

Module-3
A cor.r'rnierc:ial steel sha{'t lm long supported betu,een bearings carries a pu11cy of'clianretcr
(r00rnnr u,eighing 1 kN located 400mm to the right of the right liand bcaring and rcccivcs
25 kW at 1000 rprr by a horizontal belt clrive. The pou.-r liorn the shaft is lransrlrttcd by a

spr-rr pirrion ol'20" prcssurc anglc having pitch circle diarncter 200rnrn to a spur gcar suclr
that thc tarTgcntial lorce on gearacts verticallyupwarcls. Thc pinion is keycd to thc shaft at a

riistnncc of 200mrn to the riglit o1'the leI1 bearing. 'fakrng the ratio of belt tcnsions as 3.

ilclcrrninc thc cliarnete r ol the shaft rcquircd. Use nraxirrr-u'n shear stress thcor1,. 'l'al<c

"r,1 .,. -10 Nlnmrl. (2() \'Iarks)

OR
6 a. Sclcct a rcctangular sunk key to transmit 9 kW at 300 rpm. The yie ld strcss {br the steel usecl

is i 1 0 N,iPa. 
'f ake ftrctor of'safe ty as 2.5 . (06 f,,Iarks)

Lr. Dcsign a rigici tlange coupling (Un-protected) to transnrit l8 kW at 1440 rpr.n.'l'hc allowablc
slrcar strcss fbr Cl 11ange is rl N4Pa. Tlie shrlts, keys and bolts are macle of auucaled steel
havins allori'ablc shear stress of 93 l\4Pa. Takc aliowablc- crr:shing strcss: 186 N4Pa lor l<ey.

Tal<c kcv u'ay firctor n - 0.75 fbr shatt. (14litarks)

Fig.Qa(c)
l-oatl lirctor .. 1.0, Size f-actor:0,85, Surface factor:0.85.

,L5 VN

(08 Marks)

Moclule-4
Dcsigln a lonqitLrclinal.joint lbr irboilcrol'2m clianretersubjectecl to aprcssr-rre o1'1 MPa.'l'he
joint is a tliplc rivctctl br"rtt joint with equal covers and cfhcrcncy ol8-5')'i.'l'hc pitch o1'thc
oLIlcr ro\\'is tri.'icc thc pitch olinner rorvs. Thc amangcrncnt is o1'chain qvpc.-l'akc allowable
strcss in tcnsiorr :117.(tl N/nlr-r2, in shear:70.6 N/rnml and in crushing - 17(r.50 N/nrnrr.
"l-akc cocf iicrent kr ...6 ancl c:rirrosion allow,anec o1-2 nrnr. (12 N{arks)

A brackct attacliccl to a vertical column by rneans o1'ltrrrr itlo-rtical rivcts, is subjccted to an

ccccnlric lbrce of' 25 kN as shoivn in Fig.Q7(b). f)ctcrmine llrc cliantctcr o1'rir,cts, il'thc
pcrrlissiblc shcar stre ss is 60 N/rnrn2.

ao

I



8a

18NIris2

tric ftrrcc o1'60 k\ rn

blc shcar slrcss for thc

5D
*--+l

6a u^*

(12 N{rrlis)

b. Detemrine the loacl carrying ol'a r.l,cldcd joint loaclcd as shuu,n iu Iri g.Q8(b). I'hLr

allowable shear stress u,eld nsecl is 50 \'lP

F ig.Q8(a)

le

O

h4fi

$ rA{
Fig.Q9(c) (l() IIarl<s)

OR
a. ()btain anexprcssion fbrtorque reqr-rirecl to raisc thc load ir"t pou,crscrc\\is. (0tl \,larks)

b. Ilnumcrate lbur typical applications of knr-rcklc joint. (02 ]'tarks)
c. A ntachine weighing 20 kN is to bc raised by a singlc starl squiirc tht'eadcrl scre\\,r()d ol'

50nrm diameter,8rr-ul pitch screv!' jack at a nraximum speecl of-(r nr,inrinLrtc. l[-1he coei'llcicnt
of fi-iction for threacls is 0.2, cietermine thc porvcr rcquirecl to raise (lifi) tlrc nrachitrc. l'lt,:
insidc and or,rtsirie diarnetcrs of tlTe thrust collar arc 30 zrncl (r0nrrn rcspcctivcl_v. I'hc

coe l'ficient of fiiction fbr collar is 0.1.* 
,k ;k ,< * 

(10 i\Iarks)

3 of'3
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9a.

b

c

Irig.Q8(b) (08 trIarlis)

Moclule-5
It is rcclr"rircd to dcsign a cottor joint to connect trvo stccl rocls olcclual clian'rcter. Irach rod j:
sub-jected to axial tensile force ol50 kN. Dcsign thc joinl ancl spccilr,' nrain clintcnsion:.
Take pern:issiblc: stresse:r fi:r roci:; in tcnsion =. (r7 Nirnnrl. f'l'rislring'., i34 \i'nrtur anrl iirr
coltor in tension : 100 N/mml. (t)tl llarlis)
[:xplarn self-locking in pr''ws1 scrcws. (02 \'lalks)
A brackct is bolteil as shovu,n in Fig.Q9(c). Atl thc boits arc olsanrc sizc ancl arc uradc o1'

steel having allor,r,ai:le tensile stress ol 90 MPa and allorvable slrcnr strcss o1- 52 \4[)rr.

Detemrine the size of tlie bolts to be used.

360

l

+r q"

+?
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t'ilth Scmester B.E. Degree
Dynamics

'l'ir-r-re: 3 hrs NIax. N{:u'l<s. 100

Note: Arrstyer nn;,- FIVE ^full questiotts, choosirtg O]\E.ffull question.fi'onr errclt modrr[e.

Moclulc-l
a. Dcfinc static eqLrrlibriuLn. State two conditions lor equilibriunr (04 -\lrrtrs)
b. In a slicler crank ntcchanisrn, the fbrce applicd to thc piston is 1 kN, u,licn thc ct'anl< is ai (r0"

frorn lDC.'l'he lcngth of the crank is i00mrn and connecting rod is 300 nrnr. (lalcrrlatc ti-tc
clrii,ing torclr-tc T2 or-i the crank to attain e qLrilibriurn. (l(r \larks)

I

./Mar. 2022

(r) Scnsitir/cness (ii) t{Lrnting (iii) Isochronisnr (ir,') Govcnlor po\\'er (()tt \'larks)

b. Ilach ann ol a porter govemor is 300nrrn long anc'l is pivotcti on thc axis of thc uovenrot.
Each ball has a rnass of 6 kg and thc mass 01'sleeve is lSkg^ thc t'aclius o1'rotation oIball is

200mnt ri,iten the govclxol' begins to liti and 250mnr rvhen the spccd ir nta.rittrtttt-t.

Detemrine tlte rnaximr-un and mininrum speed and range of speecl olthc goventor. (12llarks)
1 of 2
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OR
'I-he rlimensions ola ftrur-link nrechanisn'r are AB '' -5()Ournr. BC"'(16()rnrn. ('[) 5(r0nrrr
ancl AD : l000mrrr. 'l'he lrnk Ats has an angulerr velocit,v of 10.5 r'arlisec corLr.rtcrclocltvisc

ancl an angular rctarclation of 26 racllsec2 at the instant tvhcn it makes an atrslc o1'(r(ln rvith
AD, thc fixcd link. The rnass of the linl<s IIC and CID is 4.2 kg/m lcngth. Thc link AB has a

rrass of 3.54 kg. the ccnter of u'irich lies at 200rlm lionr A ancl a nrourcnt ol'iucrtra o1-

88,-500 kg-nrm2. Ncglccting gravity and f iction elTccts, cletcrminc thc irrstanturlcoLrs valrrc of-

the clrivc torque reqrrired to be appliecl on AB to ovcrcorue thc incrlia lbrccs. (20llarks)

Nlodule-2
.lustily thc need o{'balancing of rotating trlarts {br high specd cngincs. What is thc rfi{-lercnce

bctrvccn static and dynanic balancing'l (0.1 )larl<s)

A shaft carr-ies four masscs A, B" C and D placecl in parallel planes perpendicLrlar to thc shali
iixis and in this orcier along the shaflt. The masses B ancl Cl are 40 kg and 18 hg anrl bolh arc

at 160mm raclir"rs. While tlrc rrzisscs inplanes Aand I) are at 200 rnr-n radius. Angle betu'cen

Il and C is 100o. B and A is 190o, both angles being rneasurecl in the sarr-rc scllsc. ['lancs A
and Il are 250mrl apart. B and C are -500mm aparl. lf the shaft is to be in con'rplctc balancc.
dctcrmine (i) Masses in planes A and D (ii) f)istartce betwecn plancs (. antl I)
(rii) An-uLrlar positiou t-rl'urirss D. (l(r )l:rrhs)

OR
The prstons o1'a 4 cylindcl vertical inline engine reach their uppcrnrost position a1 !)0"
jnterval in order of the ir axial position. Pitch of cylincicr is 0.35nr, cnurli rarlius is 0.l2rn.
length of connecting roci is 0.42nr. The engine runs at 600rpnr. If thc rcciproc:ating parts o1'

each engine has a rr;.rss of 2.5kg. find the Lrnbalanced prinrary and scconclarv ltlrccs and

couples. J'al<e central planc of engine as refcrence plane . (20 Nlarks)
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b

6 a.

7a

tr

&/9

8a

b
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2 of 2

OR
Dciinc eyroscopic effbct. With usual notations and diagram. clerive an expression lol the
gyroscopic cor"rple produced by a rotatir-rg disc. (08 llarks)
Atr aeroplirnc has cnginc speed 2000rpnr clockrvise r,i'hcn viewed from rcar. it is flying at

240 knrph spcccl and turns tow'ards 1ift and cornpletes a quarter circle of 60m raclir.rs. 
-l'he

rurass ol'thc: rotor engine and the propeller of the plane is 4.50kg with a radius of gyration ol'
i20 nrrn. Detennine the gyration couplc on the aircraft ancl its cfhct. Irr r,vhat way the eflect
chanses rvhcn the (i) Acroplanc tums towarcls right (ii) F,nginc rotates clockwise r,vhen

vicrvc,cl lionr the fiont (nosc cncl) and the aeroplanc turns right. (12 \Iarks)

(10 Marks)
(10 Marks)

Fig.Q7(b)

Module-5
9 a. Dehnc tnrnsmissibifitl,anci cierive an expression fbr the transnrissibility ratio and thc phasc

anslc fbr thc transntitted lbrce. (10 N{arks)

b. .,\ ntiss of 100 kg has been rnountecl on a spring-dash pot systel.n having spring strllncss o1'

l9(100 Nr'n ancl darnping coefficient 100 N-scc/nlt.'fhc rnass acted Lrpon by a harmonic
iirrcc o1''i9\ at thc unclamped natural tlequency of thc systcm; {ind
(i) Anrplitr,rdc o1-r,ibration olthc mass
(il) I'lrasc dit'fbrcncc betrvccn thc force'arrd rlis;rlaccmcnt
(iir) Iiorccs transrnissrbility ratio. (10 \'larks)

OR
I)crir,e an expression 1br nragnilication thctor or an-rplitude ratio 1br spring 1r'rilss svstcln u,ilh
viscorrs clurrping sub.jectecl to harnronic torce. (10llarks)
,\ -5:1 N u'cight is sLrspcndcd by a spring rvith a stiflncss ol ll00 N/m. It is lirrcccl to vrbratc
bv a hanrt'rnic lbrcc of ,5 N.'lakc viscous clamping of'77 N-sim and flrrd,
(it Ilcsonanl liequency (ii) Amptituclc at rcsonancc (iii) Phasc :rnglc at resonance.
(ir,) I)ampcd natural fi'eqr,rency (v) [rrcqLrcncy at which nraxin-r-rr-n arr-rplitude of vibration
occurs (r,i) N'larinlunl or I'cak arnplitLrdc (r,ii) Phasc ariglc corrcs;ronding to peak
anrplitude (viii) Speed at lvhich maximum anrplitude ofvibration rvoulcl oocur. (10 \Iarks)
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I a. Difl-erentiate between turbo
aspects (i) Action (i0
conversion (v) V

b. A%scaleturbine
work under a head o
develops 125 kW
output, discharge

) Explain stagnation state

I 1

and

positive disp
(ii1) Mechanical

under the following
(iv) Effrciency of energy

(10 Marks)
required to
model if it
the power
(10 Marks)

(04 Marks)

suggest the type

OR
for a fluid.

of turbine.

a.

b.

4f

i+)'(*)Show lytropic efficiency

wheel: 350
are 30 cm respectively. Width of the wheel at inlet is 12 cm. Find

Also what will be the value of R.

is given p=

(08 Marks)

of flow is 4 mlsec. The inner and outer diameter bf the turbine
the blade angle

(t0 Marks)ofoower deve

',.|,+

f "'*$s' 
't 1.of2

Fifth Semester

Show that the degree of reaction is given

exit with respect to tangential direction.

bvR _2+ cotl,
, where B, is the blade angle at

4
(10 Marks)

b. An inward flow has water inlet angle of 20", the water leaves radially, speed of



s a. what is compounding? Explat tO ffimpounding
with neat sketches.

b. A single stage impulse turbine has a diameter of 1.5

angle is 20'. Speed ratio is 0.45. The ratio of
The outlet angle of the blade is 3" less than inlet
velocity diagram and find the following : (

(rv) Power

18MAs4

ii) Pressure compounding
(10 Marks)

at 3000 rpm. The nozzle
at outlet to that at iniet is 0.9.

flow rate is 6 kg/sec. Draw the
of whirl (i, Axial thrust

(10 Marks)

6

9

(iii) Blade angles

a. Derive condition for

2cos2 u,
lL 

-"_.I'ma\ 
l+COSrtX,

maximum e

(iii) Overall

effrciency of el is given by It, n.* =

from

0R ,,

fficienc9,,,bf
:.:....:.

turbinb:*and
'''":ii::)tlLt):))t'.,'

':'

hence prove thatreactron steam

(10 Marks)

of flow of steam the mean blade speed.

diameter of the b is 1.3 m and the rotational
blade angles, loped for the steam flow of
drop, if the is 80%. (10 Marks)

Module-4
defrne llowing : (i) Hydraulic efficiency

(iv) Volumetric ef{iciency. (08 Marks)

b. ln a Parson's turbine the
The outlet angle of blade
speed is 3000 rpm.
65 kglsec and the

7 a" Vfith a
(i,

b. Showthat
I + Co cosF,

2
, where

a.

b
c.

(06 Marks)
12.5 m, speed of
mm and 250 mm

an expresslon

is 600

flow
(i) Mano ffrciency

are bent back at 35" to the wheel tangent at exit. If the area of
inlet to, outlet, find

(ii) Vane angle at inlet (06 Marks)

OR
Explain the following,ffi respect centrifugal compressor: (i) Pressure coefficient
(ii) Slip factor *ffi#dlfl Power factgr (iv) Surging (08 Marks)
A centrifugal compress&runs at a speed of 15000 rpm and delivers air at 30 kg/sec. Exit
radius is 0.35 velocity and vane angles at exit are 100 m/s and 75". Assuming
axial.inlet,
torque (ii)

temperature and pressure as 300 K and 1 bar. Calculate (i) The
required to drive the compressor. (iii) The ideal head developed

(iv) The work (v) The exit totalpressure. Take C.. = 1.005kJ/kg. $zMarks)
*****

2 of2'"&.i#w

Cb= at its outlet.

8 a. Explain the
Draw the velocity of*.aplan turbine.

b. The following data is a Francis
power :370 kW, rlo ,qn =0.95,

0.15
outer and

(12 Marks)

a sectional arrangement diagram.

The thickness of vanes
is constant and discharge is

angle at inlet and outlet
the wheel at inlet. (12 Marks)

(r) Static head (it)

for a centrifugal pump.

10 a.

b.
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ilol operatcd licl'valvc
(07 NIarl<s)

(06 )Iurhs)
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Note: Answer ony Fll/'E.fitll questions, choosirrg ONE,fitll question.fi'otn t'(r(:h modttle.

ilto clule- I
a. Detlnc fluicl porvcrsystem. Sketch ancl explain the stl-rctr.rrc o1'a hydrauiic controi sr,'slcnr.

(Olt \:lurks)
b. Statc Pascal's iau, ancl cxplain rts applications. (06 llarks)
c. A lbrcc o1500 N is applieci on a plunger of 5 cnr diatlctcr of'n h1'clraLtlic prcss liltt nlrvcs

lhe piston through a clistance of 20 cm. \\that is the nraxinrr"rnr u'r,-ight o['ihc ]oati that can bc

placcci on lbe ram:urcl r,rhat rvill be the displaccrnc,nt of the rant. it'thc- clilnrctcr o1'thc ratr is

40 crn. (06 \larks)

(0tl )larks)
(0tl llarlis)
(0,{ }llrks)

OII
4 ii. ['.xplain thc fbllou,ing with ncat sketches:

(i) Sirrr:le -actinu cl lirttlcr'
(ii) 'l'clcscopic cl,linder (0ti )larlis)

b. What is a hyciraulic motor? What arc thc fbLrr broad Lrasis o1'classillcation ol'hyclraLriic
rurotors'.) (05 llarks)

c. A hytirar,rlic trotol- has a volumetric clisplacen,ent of 123 cmr operatrng at a prcssttre of'
60 bar arnd speed 180 r'pnr. It thc actualtlou'rate conslllnccl by the urotor is 0.004 nt'/scc und

acfual torque delivcrecl by motor is 100 Nm" find:
(t) VolLrrnctric el'liciency (ii) Mcchanical efliciency (iii) Overall e tficicncv. ((t7 )lrrlis)
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2r.
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IJ

10

18N{Es5

(04 Marks)
lir-nitations o1-

(10 \larks)
iucrease thc

(06 Marks)

(07 Marks)
(04 Marks)
(09 NI a rl<s)

(0tl )larks)
(06 \larks) l

(06 N{arks)

(l2 i\'larlis)
(08 \larks)

(08 Marks)
(03 Marks)
(09 Marks)

2 of 2

Module-5
9 a. I--rplarn the lbllou,ing litnctions gencrated in pneumatic sysrcms:

(i) OI{ gatc
(ii ) i\r'l) gatc
(iii) NOT satc

tl. L:xplain clircct and inclilcct actuntiolt of pneuuratic cylinclcrs.
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Max. Marks: 100

module.

and operation
(08 Marks)
(06 Marks)

Fifth Semester 8.8,. I)egree Exami Feb./Mar.2022
Operations Man ent

Time: 3 hrs.

l\{ote: Anstuer ony FIVE full questiorts,

I a. Explain brietly rvith a schcmatic
manager-nent rvithin them"

d
(,)

O
!
e-
6
E
h
6

O

(-)
L

(6=

;a,q
. ir
u:'.'

o>
?a

q.6

UO
-:

"o!

iY

a."o --i

2.4

!o

s()tr>

U<
-J -i
O

Z.

(
oc.

b. Dellne productivity and that aft-ect pro

c. Deterrnine the productivity factor productivity
(i) Four workers m o1'carpeting in 8
(i0 F-or the combined labour and
Oulput : 7040 Lrnits

Inpr-rt. Labour. Rs. 1

Materials 00
00

for the cases

r"rsing the lbllowing :

(06 Marks)

(06 Marks)(t -

b.

What
A

? Explain dilferent
two ol data is available:

The availabie

,,#:13:e{a:

Formulate as LPP and solve

ven the fo

Prepare a fcrecast usipg ofthese approaches:

quantities of Tlpe 1 and Type 2.
(14 Marks)

(08 Marks)

(i) A three period moving average.
(ii) A weighted average using weights of 0.5 (most recent), 0.-10 and 0.2.

(iii) Exponentiai smoothing with a smoothing constant of 0'40'

Rs.5000.00nrt Rs.6000"00
4 hours 10 hoursAssembly time per urit
2 hours t hourlgInspection time per unit
3cubft )uo- nStorage space per unit

Resource available
Assembly tirne 100 hours

22 hourslnspection time
39 cubic

Period Nurlber of complaints
1 {r. i> 60

2 :.-,,::l::,::,.,.. 65

3 55

4 53 ,,, rtifil

5 64,1::::*z;;-

1 of 3

(12 Marks)

OR
types of n"rodels.

Explain the fbllowing

method to find

Module-2
methods

Linear

Storage space



OR

4 a. Explain the steps in the forecasting process'

b. What is DelPhi method? Brief'
c. The mobile phone sales for a company over

the data and visually check to see if a linear

the olthe trend line and sales for
be appropriate. Then determine

1 and 12.

are

18ME56

(06 Marks)
(04 Marks)

shown in beiow table. Plotthe last 10

trend

5 a.

b.

c.

a.

b.

6

ir:

sing{e graph.(i)
(ii)
( iii)

Plot the cost lines for tions on a
hich each

loca
cost?

f is superior
be 8000 units/year, which location

(10 Marks)

7 help of a flow chart (06 Marks)

in a transportation table and soive for the

Regular
Capacity over time

Sub contract
Costs :Initial 100

:Rs. 60iunit

Unit salesWeekUnit salesWeek
14261 700
x5671242
7508J 720
"t70

94 726
780,, ,,,105 738

Variable cost/unitFixed cost/yearLocation
Rs.1 10.00Rs.2,50,000.00A
Rs.3Rs.1,00,000.00B
Rs.C Rs.1,50,000.00
Rs.350.00Rs.2,00,000.00D

1
.)1 2 ''"'

s00 700 750
500 s00 500

50 50

100120 t20

Sub : Rs. 90/unit

(14 Marks)
Inventory carrying cost : Rs.l/unit/month

s0

*sk order cost : Rs.3/unit/month
2of3



8a.
b.

9 a. Explain
b. The Fig

(i)
( ii)

Determine

1OXs,

OR
Explain master scheduling process with the help of a
Determine : the projected on hand inventory
uncommitted inventory (ATP - Available To
ca is 70 Forecast are shown in

18ME,56

(08 Marks)
production schedule and the

the following data and production

(12 Marks)

(10 Marks)

i.e.Chairs

t-

10

one X.
be required to assemble

i.e. an inventory) of various

(10 Marks)

rvith a schematic model" (10 Marks)
(05 Marks)
(05 Marks)

June (weeks) 'July (weeks)Beginning Inventory 64
I 2 a*.) A+ 5 6 7 8Week

40 40 4030 30 30 40Forecast
211

JJ 20:1 ,'10 4Customer orders (cornmitted)

3 of3

Bp)

1

T

fi 43ui
V

7 {7Ie"1l-,/ )

components:
a:

.a:a.

,:

;

*****

30

,Compongnt On Hand
B '\..*:4

C ; 10

D ri.s 8

60
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l. The word Environment is

2

a) Greek

PrinTary consumer
a) Herbivores

3. Abiotic

Spanish
,, r..i,)fo) 

English

'''lllli'

) Macro consurler d) Omnivores

) Water d) All the three

b)

b)

t includes
b)a)

4

5

6.

7

d) All the three

d) Humidity

d) Food chain

is having the least storage

VersionA-Pagel of 8

d) Biosphere

Fifth Semester B.E. Degree Examination, Feb./Mar.2022
Environmental Studies

(coMMoN TO ALL BRANCHES)

fMax. Marks: 100

INSTRUCTIONS TO THE CANDIDATES

Darnaging/ove rlvriting, using lvhiteners on the OMR. sheets are strictly

prohibited.



d) All of the above

9 The sequence ofeating and b

a) Food chain
c) Hydrological cYcle

The largest reservoir of Nitro

cing eaten

a) Ocean b)

11. Which of the following is a
a) Plant and some leo
b) Animals
c) Flumanbeing
d) F'ish

12. The basic ts of human being
b) Agriculturea)

biological cyclin

-aii-
.""q,-- :

..f].. .,f

. .,ititt!:

flons :?.."
l:r; .;:i

' ;,P

in an ecosvstettt is called
b) Carbon cYcle
d) AnthroPosYstern

are provided by
c) Nature

18CrVs9

8. The objecti ve of environment education is

a) Raise consciousness about environmental condi

b) To teach environmen taily appropriate behavior

c) Create an environmental ethic.

d) Hydrosphere

d) Urbanization

d) A1l of these
13 In

a)

an

14.

15.

A predator is
a) An animal that is fed

b) An animal that

b)

1S

16.

I

1

a) Carbon

19. Habitat

feeds on

gas layer
b)

sphere to the

b sphere

tal
t'' 

June

c) Ozone

earth surface
c) Mesosphere

,: ::*L

.,.j,r...,"i1 22"d lruly

d) Helium

d) Exosphere

c) An animal that hunts

d) A prirnary consulner

The major atmospheric
a) Hydrogen

Which atmospheric
a) Troposphere

5 d) 5'r'July

green plants frorn the atmosPhere

c) Nutrients d) All of the aboveb
absorbed by

'*"x$
)a

b)
c)
d)

A food web
a) A porlion
b) An
c)

d chain

of food chain
in a food chain

f24.

d)A consumel
\/-vsi^n A -- Doaa , nf a

in an ecosystem
producing their own foocl



21. in an ecosystem the flow of energy is
a) Bidirectional b) Cyclic

))

c) Un

b) It4alaria c) Cancer d) Fever

18CTVs9

d) Multidirectional

ted

23.

24.

25.

26.

1.1

28.

a)

an energy technology
a) Energy in large tides ocean to
b) Energy in ocean wave generate electricity
c) Energy in ocean due
d) Energy in the fast

34. Molases frorn
a) Biodiesel

gradient to electricity
ocean current te

is used to generate

b) Hydrogen c) Bio-ethanol d) Bio inetltanol

?0

30.

'l?

33
S

plant in Kamataka is located at

b) Kaiga c) Raichur d) KGF
35. Nucle ar power

a) Bhadravathi
\/^-^:^5 A D-,.^ I ^f Q

d) r987

Dircct convcrsion of solar energy is
a) Solar photo voltaic systeru

b) Solar hybrid system
c) Solar thenlal system
d) Solar air heater

attairietLby

F{ydrogen energ)r can be trapped through
lr) Heal pLtmp

cj I']hotor oltaic cell

31. Cow dung can
a) As manure
c) As firel

b) Iruel cell
d) Cell

b) For production ofbio gas

d) All of the above

c) CH+ d) N,



36.

37.

38.

39.

X8CIVs9

ese

th

40

41.

42. Bio
a) Soil

c)
d) None of

44. Smog is
a)

c)

4 le

a) Primary
c) Tertiary

47. Generation

Snow
Fog

pollution of

means
b)

of

energy rs

tS

c) d) A]l

',I

f.;42., t

.': 'i .:

b) Snow and Fog
d) All the above

b) Secondary source

d) none ofthe above

on

' 'i:

45

..,,1)'PH
.. :

5-'i') Renewab

c) Turbidity d) All of these

qlaiiily based

49.

a) Storm b) Pressure

c) Velocity of wind d) Direction of wind

Which of the following is not a green house gas?

a) ozone b) water vapour c) coz d) Sulpher dioxide

World ozone day is being celeblated on evely year

a) Sept 5'i' il Scpt l6'h 
- 

t) oct 15'r' d) June 5'r'

VersionA-Page4ol'8

Which resources are in exhaustible
a) Renewable b) Fossil fuel

Earlh day is held every Year on

a) April22'd b) 5'h June

c) Non Renewable d) Mineral

d) A11

Oil and gas are preferred because of
a) Easy iranspoitation b) Cheap c) Strong smcll

Mining lneans

a) 'fo conserve and prcserve minerals

b) To check pollution due to rlineral resources

c) To extract Ininerals attd ores

d) Nonc oltltcse

What would you do to prcvent environmental darnage

43. Population explosion will cause

a) Bio diversit5'
b; Strcss fut ecosYstcnt

a) Flant trees
b) Halt dclorcstation

,,::ja:a.::.. !.:.

watdtiraue to



50.

5i

<?

53

54

55

18CM9

-A(e)

The first rnajor en

a) Air Act
c) EnvironmentalAct

Which of the

b) Water Act
d) None of these

monitor state industrial effluents!'

Law \vas

thc nuthority to

Varsinn A -Pooo( nf I

d) England

Environmental protection is a fundamental duty of the citizen
a) 21 b) 47 c) 48-A

'b) Agricultural waste
d) None of the above '

Vr'hat is the penrrissible range cf pH fbr clrinking'vtrater as per Inclian stirndar<is

a) 6 to 9 b) 6.5 to 7.5 c) 6 to 8 d) 6.5 to [1.5

What is the maximum allo'wable concentration of fluorides in clrinking water

a) 1.0 mg/t b) 1.25 mg/.[ c) 1.5 mg/.[ cl) 1.75 mgll

'f/hich of the following is a non point source of water pollution
a) Factories b) Sewage treatment plants

c) urban and subr:rban lands d) A11 of the above

Nitrogen fixing bacteria exists in - of plants
a) Leaf b) Roots c) Stern d) Florvei

Forest rich area in Kanrataka in fcrunri in

56

57

58

59

60

51

62

ilJ

54

55

Important sources of land pollution are

a) Indtrstrial rvaste
c) Both (a) arrd (b)



59

55

67,

68

69

7A

11 Biochemical

-t ',

a) Above 30

growth and

iography c)
prediction of future grorvth is called

Kalography d) PsYchologY
Study of trends in
a) Demcgraphy

measures

a) Industrial
b) Air po
c) Poil acity of effluents
d) Di needed by

skin cancer and

a) Ozone depietion b)

73 Sound become h

wastcs

tron

pollution at

d)CO pollution

d) Above 120ove 80 c ove 100

\rrhich of the follorving is NGO
a) Narmada Bachao Andolan
c) Cove. Cotservation board

arashtra

d) Marble stoue

in the year
d) i984

d) t912

d) Ail

b) Pollutiort controi board
d) l.lone of these

80

Version A. - Page 6 of 8

Ozone layer thicl<ness is measured in

a) PPI'4 b) PPB

Fercns are

a) HFC b) cFc

to leakage

. .rtrrrrl

c) Decibles.'"" d) Dobson unit

C)N,IC d) Hydrocarbon

Bhopal gas tragedY caused due

a) Methyl iso cYanate (MlC)
b) Sulptrur dioxide
c) N4ustard gas



59
81

82

83

B4

85

86

87

a)

c)

c) Environrlental management

The First International
a) Johannesburg

Disease caused by inhabiting rnercury

d) None of

1S

b)
d) Osteosclerosis

iles interact to tbrrr
cl) Aerosols

the{i ,ove
: ll 

_iir''

',,,ritiii:*-

;

contaminated water
Minimata disease

was held at
b) Janeiro c) Kyoto d) Stock holm

Bright's disease
Hashimoto

,ber

ity

The leader of Chipko movement is
a) Sunderlal Bahuguna b) Medha Patkar

.r:rrrtit:.

.'_,\::,. :

c) Vandqsa'Shiva

b) RNA viruses
d) None of the above

originate

d) Anna Hazare

The Tiger conservation project was starled in
at) 1973 b) 1984 c) 1999 d) 2004

An intemational conference on environmental education was held in December 1982 at

a) Kyoto b) Vienna c) New Dclhi d) Rorne

Nlitrogen oxide and hydrocarbcns released by
a) C:rrbon- nronoxicle b) An'rmoni:i

fhe wolld AIDS day is recalled on
a) l" July b) 5'r'June c) i" December

EI*j\/IS Means
a) Envir onmental hrformation System
h) Environrnental Interference service
c) Environtrental lnformation Sen,ice
tl,1 None of the abovc

C oron{r viruses is a

a) DNA viruses
c ) Chrcrnosomal viruses

Where did the first case of corona virus dieses

a) '/arncn crty b) \,Vuhan city

gAP.S rcki to
r;) Severc acutc respiratory syndrome
tr t Self acutc rcspiratory systenr
,-') Ser ere acute respiratory systcm
cii Sclf rccuratc rcst s)'ndrolnc

ilffect of carbon monoxide on blood, cartstng

a) HICO: b) COHb c) COzHb d) HbCCz

Which of the foliorving is tlte rnost steble ecosystem
a; lVlorrniain b) Desert c) Forest

h aquatic eccsystem phytoplankton can be considered as a

a) Consumer b) Producer

c) Saprctropic organisms d) Macro consumer

90

91

92

93

ct.4

95

Version A-PeoeTnfR

d) Ocean



1ECIVs9

97

96

98

ci)30ozt,

d)Teeth

VersionA-Page8of8

A primary sllccession on bare rock stafts with

a) Lichens b) Herbs

\rrhich one is matching sanctuary

a) Kaziranga * musk deer

c) N.E. Hirnalayan region - Samber

c) Trees...,,.i,,

.t ;. ....

b) Gir -Lion
d) Sunderban - rhino

d) Animals

olendangcred species

d) Reptiies


